comeehron de 'inkmo2

exdl

A [21x)% +2x 23 et it =%l Fxt)
A = rl + 11X +9 = L Fhx ~2®

A= 3zt FACx + 5

i o Y
g = (’ZK %)
. d)q“-.g Zx?wx.;. #(%)7’

e
Ll = M &
v 4
(- Ru-f-xtelx ~ (20Fuz $45% t 32%)
re 3% 7 Elx ~ 20 “bx ~A5% ~32°
c- ~hr' —qbx -1

D= TPt R E

Pz d-n

= () 24> -1)
¢ = (u1x) (% 16)

[[23({'3) 4’(}1-1)3{:(?3‘*3)'[31'1}j

o2

¢ [57(-1 )[(3+2)L)— (7"‘1)_]
A < Cox -4 ) L 3FLR -2 EH )

o= (Sa-1)(x+?)
(37{-4)[(37(—-4) 22 13)7
(30.2) [ Sx¥2)

R =
B

]

D =
\ e +3 ¢ 3x-q)( T3~ k1)
3 « (Su+2)(-xF4)
o3
1
fre = ' B = ——
- Bz
) 3(fw +3/ B
" -5 e
Z[Wr()”” g < {3 -1 '
it~ % B
pe 3 (Vi %) B={z-z
%
(- ot & A T A A
NERT A oo ari 1A
Y
I 0 R - e Spzain
L= \ﬁ}"—‘m%\)—&-—-.”}-{_t D= m%& . \E:Z’-‘\E
£ = At ~-A ot -A
C= ?-—-JE D - \}a?ﬂ)-a -!E?L-f\l‘—g\_
: %
z
D<=l




/. R-Br (ash)* - 2ab
at+ioab +b7 - 2ah
- a’l «Hoz -0 an un C"W’ W; Fm;ff

1"

Dme A-870
A B
: ‘)« e
2- H—-—: e . B: a-1 P
A .2
A 51
A-B8= i |
x i /T
e B Dz
- _..12 '—(9[1 "{)
lnet) i
3 1w +1
x(nu)
- =) oL x d Xl 70
2 (ne1) b L me ©
Dmne A-B>°

ab+ta — (a2 )b+2)
_ abtt _ [ab+ia +2bt4)
= QL) tq - ab ~2a- b -6

=7 (ot+b/

p-8=

o oLo oF b<9

Pme atdb <o

s -1 (ath) >0

dme q-68 20

ek A 7 8




